name:______________________________ date:______________ period:_____

isotope abundance 

avg. mass = rel. mass(abundance) + rel. mass(ab) + rel. mass(ab) + …

1. based on the following data, calculate the average atomic mass of magnesium.

isotope


mass(u) 

percent abundance

magnesium-24

23.985


78.70

magnesium-25

24.986


10.13

magnesium-26

25.983


11.17

2. iridium has two naturally occurring isotopes, iridium-191 (with a mass of 191.0 u, and a percent abundance of 37.58%). and iridium-193 (193.0 u, 62.42% abundance). calculate the average atomic mass of iridium.

3. europium exists in nature as two isotopes: 151Eu, which has an atomic mass of 150.920 u , and 153Eu, which has an atomic mass of 152.921 u. the atomic weight of europium is 151.96. calculate the percent abundance of each isotope of europium.

4. silicon has an atomic weight of 28.09 u. it occurs as three isotopes: silicon-28 (27.977 u, 92.23% abundance), silicon-29 (28.976 u), and silicon-30 (29.974 u , 3.10% abundance). what is the percent abundance of silicon-29?

5. chlorine has an atomic weight of 35.453 u, and has two naturally occurring isotopes. one of these isotopes is 35Cl, that has an atomic mass of 34.969 u and a percent abundance of 75.77%. what is the atomic mass of the other isotope?

